A) Rivaroxaban 15 mg vs. warfarin

B) Rivaroxaban 20 mg vs. warfarin
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Year of follow-up (days) Year of follow-up (days)
No. at risk No. at risk
Riva. 15mg 744 554 475 Riva.20mg 1064 750 653 605 558
Warfarin 2,452 2,038 Warfarin__ 3,335 2527 2428 1.856 1614
C) Apixaban 2.5 mg vs. warfari C) Apixaban 5 mg vs. warfarin
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Year of follow-up (days) Year of follow-up (days)
No. at risk No. at risk
Apix 25mg 1674 1241 1,060 028 07 Apix 5mg 2,082 1,488 1297 1,008
Warfarin 3,335 2455 2032 1757 1505 Warfarin 3335 2570 1890 1628




